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2) B 97| (Shuffling)
- TERO] E2 KeyS 7HX|= 872 20t=

3) =0|7| (Reducing)
o AMEXI HO| Reduce gt & E
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(key, value) HEI2| == F=

1) & T=7| (Mapping)

. map
- §§ . map([%%0|2, Ié‘l|-29 E‘II- ’ %%O|3])
- 7E:lﬂ|- . [(%%Ola 8 kg)a (E_'II-> 36 kg)a (E_'II-; 39 kg)a (%%Ola 9 kg)]

- def map(animals):
for animal in animals:

collect(animal.kind, animal.weight)
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3) =0|7| (Reducing)

e Reduce § § § §
s = :reduce(H,%¢ & ¥ &

[3.3, 3.9, 3.6, 3.9])
= A1t:5,(3.3+3.9+3.6+3.9)/4

- def reduce(kind, weights): @

write(kind, sum(weights)/len(weights
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